500,

400

300

200

< & X > (Um) tor PV

100

caeee

[ P

200F:
15:—

1F

i3 /N
201510—505

10 15 20
Vertex z (cm)

< OX>(Um)

Ratio

I
©
TrrT T

[63]

s =i0 -5 0 &

Vertex z (cm)

10 15 20

< 9 X > for merged vertices (Um)

Ratio

10 15 20

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP2_epoch4

<oy > (um) for PV

10 15 20

Vertex z (cm)

200

150

<0 2z>(um) for PV

100

50

Ratio

0.5]

Yo -i5 =16 5 0 5 10 15 20

Vertex z (cm)

m)

<oy>(U

Ratio

<o0gz>(um)

Ratio

p

F

Th b bl
f ++++++++

o
o
o

o

o

o
I

e o e

2000 b

e
T T

Vertex z (cm)

10 15 20

Do =15-10 5 0 5

Vertex z (cm)

10 15 20

< 0y > tor merged vertices (um)

Ratio

10 15 20

< 0z > tor merged vertices (um)

Ratiq
LN
= O
U1 O

10 15 20
Vertex z (cm)



	Contents
	Page 1


